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a. A student was interested in the cigarette smoking habits of college students and
collected data from an unbiased random sample of students. The data is

summarized in the following table:

Y |
Males who smoke. 120
O i-\ Males who do noPsmoke | 30 <
) e
2 Females who smoks-, 25 e
> Females who do noFsmoke | 50 P
? Ty 7
L ) ’P 3
o =, o

% What type of visualization is the best to illustrate the above data.? Explain. OO
2% >3
b. A group of 100 students were surveyed about their interest in a new Economics
major. Interest was measured in terms of high, medium, or low. In the study, 30
students responded high interest, 50 students responded medium interest, and
20 students responded low interest: What is the best way to illustrate the student

interest? Explain.

c. A purchasing agent for a trucking company ‘is shopping for replacement tires for
O their trucks from two suppliers. The suppliers' prices are the same. However,
Supplier A's tires have an average life of 60,000 miles v@; a standard deviation
of 10,000 miles. Supplier B's tires have an average life of@0,000 miles with a
standard deviation of 2,000 miles. Which tire life much mc@cpredictable. Explain

your answer. <
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A\
s} Q
A &gmpany's human resources department wbgnterested in the average number of Y
_3yc3ars that a person works before retiring. Tk sample of size 11 follows: OQ
R A\ 9
n_‘y- b(f\-‘ ‘CD
Q [z 16 [ 18 [ 1o [ 2l [ 2ig) 31 [ 32 [ % [ % T 3% | &
& ) ¥
N N &
~ <P
a. What is the mode? AV
b. What is the arithmetic mean?
c. What is the median?
d. Based on the values of the arithmetic mean, median, and'mode, what is the most
O likely shape of the distribution? L
Y
OQ
%(J
Question 3 ‘ S
N
. Py

For the following data, AY

QrLIS5[6]6|6|7[7|7|8]|8|8& N
00889'9999'999'0@1
cQJ bo

©  a. find the information required to constructa box plot.

3

Y@‘ b. what is the interquartile range? Q‘}
Q%' c. are any of the observations an o&ﬁér’?
N
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Question 4 o
&

a':aANhat is the difference between a permutation and a combination?

b. When are two outcomes independent? Explain in terms of the rules of probability.

¢. Each salesperson in a large department store chain is rated on their sales ability
and their potential for advancement. The data for the 500 sampled salespeople
are summarized in the following table.

Potential for Advancement
Fair ' Good Excellent
. Below Average 16 12 22
Sales Ability Average 45 60 45
@bwa Average 93 72 o185
3, &5
O What is the probability a salesperson selected at random has above *?'/P
average sales ability and haézf;xceflent potential for advancement? /LJ\
(?g, | d. An automatic machine inserts rr?:@ vegetables into a plastic bag. Past OO)E)
P experience revealed that some packeges were underweight and some were A
)Zp 3 overweight, but most of them had satisfactory weight.
& , -
Weight % Of Total

Satisfactory 90.0
Overweight 7.5

[

What is the probability of selecting three packages that are overweight?

Question 5 ' P

Zp
a. What kind of distributions are the binomial and Poisson probabilitfg}gtributions?
b. What is the shape describes a Poisson distribution? Oo

c. Sweetwater & Associates write weekend trip insurance at a very nomina@barge.
Records show that the probability that a motorist will have an accident during the
weekend and file a claim is 0.0005. Sup‘gose they wrote 400 policies for the
coming weekend, what is the probability @ﬁi? exactly two claims will be filed?

3
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d. Sponsors of a local charity decided to aftract wealthy patrons to its $500-a-plate
dinner by allowing each patron to buy a set of 20 tickets for the gaming tables.
The chance of winning a prize for each of the 20 plays is 50-50. If you bought 20
tickets, what is the chance of winning 13,55 more pnzes'?

~i
Question 6 ?{\L'
Q&

a. What is the purpose of mea&ﬁ'mg correlation?

b. Select a value for the correlatlon coefficient and provide a complete mterpr&&o
of the correlation coefficient using your selected value. 5
What is the difference between correlation coefficient and regresswl}@oeﬁ'" icient?

O d. What is the purpose of transformations in regress:on analysis? Q)‘Q"

Question 7

A_kcopier company sell copier to business of all sizes throughout the country.
E@almiah was recently promoted to the position of a national sales manager. At the

© upcoming sales meeting , the sales representative from all over the country will be
= in attendance . She would like to impress upon them the importance of maklng that

Q&
Q?‘ extra sales call each day. She decides to gather some information Q1 the

relationship between the number of salgé calls and the number of copier&gld. She
select the random samples of 15 sal&s representatives and determlneé,ct?1e number
O of sales calls they made last montbc'}md the number of copiers the‘yg_‘%ad The Gretl

output on regression is report(id@elow \/\!@
' A
O R
C O
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"“O OLS, using obs&rygtions 1-15 g
% Dependent vari : sale '
- ) Coefficient  Std. Error f-ratio p-value
const 16.2133 5.18562
calls 0.31375 0.0496167
Mean dependent var 46.33333 S.D. dependent var 15.44422
Sum squared resid 819.2933 S.E. of regression 7.938675
R-squared 0.754654 Adjusted R-squared 0.735781
F(1,13) 39.98631 P-vaiue(F) 0.000026
Log-likelihood -51.28702 Akaike criterion 106.5740
Schwarz criterion 107.9901 Hannan-Quinn 106.5590
<
C?)(\ Base on the above ouﬁg?t‘, answer the following questions: @P
_ @ B P
’P_,y a. Write out the regrjgpion equation /&_
"P/_' b. How many sales woafal’}ou expect for 100 calls made o
S . Determine and interpret the coefficient of determination %

O

%. Determine the correlation c?@cient. Interpret it value . How do you detennin‘é?&_

the sign of the correlation coefficient. ?
e. Conduct atest of hypothesis to determine if there is a significant relationship
between the calls and the sales . Use the 0.1 significance level and a two tailed

test.

(15 Haes

Question 8
a. A company wants to estimate next year's total revenue. Why is an interval

estimate preferred ﬁg) point estimate?
e

<

Y A

b. The proportion of public éq_cpuntants who have cha@pl companies within the

last three years is to be esth’r%;ed within 3% .The 95%1&;3&! of confidence is to

be used. A study conducted sé%{al years ago revealed tﬁ%&the percent of public
. D 2

accountants changing companies§ within 3yearswas 21, Q

i To update this study, how many public accountants sho‘% be studied?

ii. How many publics accountants should be contacted if no previous

estimate of the population proportion are available?
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Q*

c. Arandom sample of 2 supervisors revealed that they worked an Qﬁrage of 6.5
years before belr@promoted The populatlon standard dewatmﬂ%as 1.7 years.
Using the 0.95 degree of confidence, what is the confi dencegﬁtervai for the

population mean?
2\
g%estion 9
CU What is the rationale that you need to study this subject (Statistics for Business) in
QC\L' your program. <
ol | o
\‘}, O
«5 ’
O &
L
oY
END OF QUESTION PAPER
& A
S S
4> 50
O &
& &
\Y, QY
N
Ay
R
o g
5 o
@EAB21403 Statistics for Business R
R
R R~
& &
A



<
3
R

7.

BKEY FORMULAS Lind, Marciygnd

(q
%

Statistical Techniques in(

) Wathen iness & Economics,
o g 16th edition /a?
Q C
CHANTSR 3 sy CHAPTER 5 P,
* Po on mean A * Special rule of addition S
- %{ (3-11 P(A or B) = P(4) + P(B) Oo [5-2]
s Cormplement rule el
+ Sample mean, raw data PLA) = 4 |P( A /L‘ [5'_31
X= 2 [3-21
n * General rule of addition
* Weighted mean P(A or B) = P(A) + P(B) — P{A and B) [5-41
L R [3-3] * Special rule of multiplication
_ v Wyt Wtk W, P(A and B) = PLAP(B) [5-51
* Geometric mean . Gene<ral rule of multiplication
aM = Vi) - (x) (341 (C‘? P(A and B} = P(AP(B|A) [5-6]
* Geometric mean rate of increas@ - » Bayes' Thddrem N
[Value at end ofé%'od . P{A)PBIA)
GM = ] ~£5— — 1.0 [3-5] 1 1
IVE[UE at start of peﬁ‘l'@’ ll:'(‘41 grP(A1)P(B|A1) + P(Az)P(BlAz) [5-7]
* Range ‘ S * Multiplication formulg
Q’@ Range = Maximum valug — Minimufatalue [3-61 Total al%ents = (mitn) [5-8]
@@ ¢ Population variance "?1_ * Number of permutations
; St — i
. oy ot o 2O BT -1 T
ﬁ R N e (n . r)l [5_9]
. &qpulation standard deviation o Number of combinations
Bix - 2
OO o= _._(X_N_"i [3_3] c = m [5-10]
. e vt rln =
‘s Sampleariance
' —~ %2
' - Z(x ~ %) 13-9] CHAPTER & o )
i n—i * Mean of a probability distribution
: . Sample‘staﬁdard deviation = ZxPx)] [6-1]
; s Zx — X\ [-10] = Variance of a prabability distribution
n- ' o? = Zfix - wP{) 1621
* Sample mean, grouped data . Bino@ probability distribution :
x= % [3-11] o P = Gl =y [6-3]
+ Sample standard deviation, grouped data * Mean ofa Lrainial distribution
= ¥ A w=nm [6-4]
M — )2
7 §= n—1 [3-12] » Variance of a birfordial distribution
E - CHAPTER 4 = nafl - ) [6-5]
: * Location of a percentile Q « Hypergeometric probability distribution
- p
; L=+ 1) 300 @% [4-1] (8 (y—sComs)
. Pl) = ——— (6-6]
I * Pearson’s coefficient of skewness “Zg) WCo
: i A, = Poissan probability distribution
k= 3(% — Medifan) 48 :
=— Xgr
s o P = f6-7]
« Software coefficient of skewness @) '
n Y — 7T - )?L. Mean of a Poisson distribution
sk=(ﬂ—1)(n—2) [E( s )] [+~ @ =nu -8}
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CHAPTER 7
* Mean of a uniform distribution

¢ Standard deviation of a uniform distribution
o~ a)?

12
» Uniform probability distribution

- P} =

-a
fasx=b
* Normal probability distribution

Plx) = . \/_.._

. @%dard normal value

* Exponential distribution ;

Plx) = As~™

[fx 05

N

and 0 elsewhere

]

¢ Finding a probabilify using the exponential distribution
Plarival time <x) =1 — g™

CHAPTER 8
« Standard error of mean

- [

"= Ve

¢ z-value, . and o known

X—p

Z=
a/vn

CHAPTE| .
* Confiderfce interval for w, with o knowti

O

* Sample proportion

¢ Confidence interval for proportion

p(l —~p)

n

. Sampl{size for estimating mean

&

&
O

+ ‘Sample size for a proportion

S zY
ne=m(l- w)(-é-) [e-6]
71 e
CHAPTER 10 i
s Testing a mean, o known
-2 z-Xo [10-1]
B o/
» Testing a mean, o unknown
{7-3] N el 0-2
s/vVn no-a1
= Typell e
OQ . i [10-3]
[7-4] % @) o/
| Q:lCHAPTER 1
?* * Variance of the distribution of difference in means
Q:I A + -2 [11-1]
v a EQEL"H y 1
[7-6] » Two-sample test of m@@, known o
{‘3 . i [14-2)
(-7 > o, %
?~ n, o m, -\
*» Pooled yasdnce . OQ
AV s§={n1_1)s$+(n2_1)s§ FI‘I—S]
n+n, -2 ,ca
[8~1] . Two -sample test of means, unknown.but equal cr\’gjL
% - Xz
r——— (\,)\ [11-4]
fe-2] k’
* Two-sample tests of means, unknown and unequal ¢®s
X, — X
t=—1— [11-5]
noonp
[o-1] . Degfees of freedom for unequal variance test
[{s}/n) + (s3/n,) T
e T Ty [11-6]
(s8/n,) (s /nz)
[e-2} n, =1 -1
¢ Paired t test
d
t= 11-
[9-3) s/ VA [1-7]
CHAPTER 12
* Test for comparing two variances
941 A e s
Q = ? [12-1]
(J Sum of squares, total
[9-5] -
) S8 totat = Bix — %) [12-2)
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| Ao, * Surn of squares, error O)a
o - SSE = S(x — %2 Fliz-a
Oo- Bum of squares, treatments .
L SST = S8 total — SSE 12-4]
« Confidence interval for differences in treatment means
| ® —%) /MSE(—‘- + l) [12-]
n,on,
* Sum of squares, blocks
8SB = k3%, ~ X;)? [12-6]
* Sum of squares error, two-way ANOVA
SSE = 8S total — 8ST — SSB [12-7]
(‘)‘@ CHAPTER 13 .
T * Correlation coefficient —6 ~
J Z(x -7
Py s r= (13-1]
T8 -y
O §p * Test for significant correlation -'Zp
£ o FaMn=2 SL, [13-2]
AN 1-r2 S
E, /L-' Linear regression equation +-_ C
; . %
’g‘ y=a+bx ~. [13-9]
=
5 * Slope of the regression line
E b=r— [13-4]
3 5
= = Intercept of the regression line
2 a=y—bx [13-5)
™
9 » Test for a zero slope
-5
D bh—-0
% t= [13-6]
s
8 b
.* Standard error of estimate
‘ 2 i
Iy —¢P
O A S -7
» Coefficient of determination "ZP
S8 Total 55 Total
. * Standard error of estimate Oo
[SSE O
- Sx\n=2 A (1391
-~
- + Confidence interval
i [, %P
7 p = —
/FB,L Pt A+ s T [13-10]
J* Prediction interval .
C [ 1. -xp
7 Et -t —
OJ?L yxts, 1+n S — % [&-11]

CHAPTER 14
* Muitiple regression equation

<&
%
y=a+bx +bx,+-- :Y,bpr)‘ [14-1]
o

* Multiple standard error of estimate

s =\/E(y—ﬁ)2'_\/ sse C2 -
RN~k +1) Va-(k+1) 3
¢ Coefficlent of multiple determination
<« SSR
- Sk
@/P R S8 total 49
. Adjuste%ient of determination
g SSE
n—{k+1)
@QS S8 fotal t14-41
A -1
* Global test of hypothesis
SSR/k
F= SSE/ln — (k + 1)) [4-5]
= Testing for a particular regression coefficient
-0
t= [14-6]
Sy,
* Variance inflation factor
1
IF = ——
VIF = — 7 [14-7]
CHAPTER 15
* Test of hypothesis, one proportion
z=—FP T @ [15-1]
w(1 — ) @
7
n o5
*» Two-sample test of proportions | /‘?L
z= Dr e sl
\/pcﬁ —rJ Pl -pd o
ny ny &)
3
* Pooled proportion A
kX,
Oy [15-3]
 Chirsquare tSt statistic
o o3 {f, - 1)
Dé=3 [——-] [15-4]
. P, f
* Expected frequency’;}_
-
_ (Rogytotal){Column total)
f,= (G(and total [15-5]
=Y
CHAPTER 16 v
* Signtest, n> 10
x + .50) —
74250 p > s [16-1]
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&
s Wilcoxon rank-sum test \/'\, » Purchasing power
_ M e+ 1) Purchasing power = % (100) (17-10]
- 2 [16-4] -
nyn, +n, +1 CHAPTER 18
12 » Linear trend :
Q Kruskal-Wallis test y=a+bt [18-1)
ZR)Z - (ER,)2 2R )2 * Log trend equation
') b 12 [( 02 ( 2+___+( k)] Ry ‘
ap+ 1)1 0 ny M Q log ¥ = log a + log b(t) [18-2]
-3+ 1) i1 6—5(}0 * Correction factor for adjusting guarterly means
i f i . ~ 1
. Spearrngn coefficient of rank correlation *(3 Gorrection factor = 4.00 [18-9]
2 Total of four means
_,__83d Qo)
o nim? ~ 1) (.L?* » Durbin-Watson statistic
» Hypothesis test, rank correlation ‘\,(\‘)\ i € —e_ )
: t 7 S
— [
TPNLET I G d=t 18-4]
E 26
t=1
CGHAPTER 17 CHAPTER 19 Q
+ Simple index * Grand meaco
B, = ZX
P~ =L (100) [17-11 o) X === [19-1]
Py =\
* Simple average of price relatives . Gﬁﬂl limits, mean
=P, & UCL=X +AR LCL=X -AFR [19-4]
== [17-2] e} o
f \‘}s Contral limits, range
» Simple aggregate index UCL=DR LCL=DA [19-5]
z . N rtion defecti
pe -—-p—t(100) (17-3) Mean proportion defective
Zp, _ Total number defective [19-6]
s Laspeyres' price index Total number of items sampled
2 * Control limits, proportion
p=tth (100) [17-4] P
ZP, p(1 - p)
~\P L UCLandLCL =p + 3, /——2 [19-8]
Q aasche's price index B\ n
Zpgq, = Control limits, c-bar chart
P=——2{100) [17-5] .
Pod; UGCL arkXCL = & + 3v/@ [19-9]
*» Fisher’s Ideal index \ . Y
— ———— CHAPTYER 20 {ON T EBSITE: www.mhhe.com/lind16e
V/(Laspeyres’ price mdex)(PaaschOance index) [17-6] « Expected rf'lon ?ﬁ alue )
* Value index faly
5 O Q' EMViA) = ZIP(S) - Vi4, S)] [20-1}
V= %{?100) [7-1 .. Expect\dﬁpponunity loss
N0
* Real income ' EOLWA) = ZIP(S)) - AlAy S)) [20-2]
. s Expected value of perfect information
T v Money income 100 178
Real in = cPl (100) [17-8] EVP! = Expected value under conditions of certainty
. Using an Index as a deflator - Ex!afacted value of ?ptimal decision under
. conditions of uncertainty [20-3]
Actual sales
Deflated sales = _I.r:\-cl_e;(_ {100} [17-9]
©
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Cumulativ/g,%gisson Probability Distribution TabI?
. _ )

e

At

S

C 0.01

e
170000

1.0000
1.0000

0.01
0.9900
1.0000
1.0000
1.0000

0.02
0.9802
0.9998
1.0000
1.0000

- 0.03 “3,0.04

0.9704
0.9996
1.0000
1.0000

0.05
0.9512
0.9988
1.0000
1.0000

0.9608
0.9992
1.0000
1.0000

At

0.06
0.8418
0.9983
1.0000
1.0000

0.07
0.9324
0.9977
0.9999
1.0000

0.9231
0.9970
0.9999
1.0000

0.08

09
0.’9%}39

0.9962> .
0.9999 Oy
1.0000

0.10
0.9048
0.9953
0.9998
1.0000
1.0000
1.0000
1.0000
1.0000

0.20

0.8187
0.9825
0.9989
0.9999
1.0000
1.0000 K0Q00
1.0000.

0. 1.6800
1.0000 1.0

0.30
0.7408
0.9631
0.9964
0.9997
1.0000

0.40
0.6703
0.9384
0.9921
0.9992
0.9999
1.0000
1.0000
1.0000

2

»

0.50
0.6065
0.9098
0.9856
0.9982
0.9998
1.0000
1.0000
1.0000

0.60
0.5488
0.8781
0.9769
0.9966
0:9996
1.0000

1.0000

At

1.0000.

0.70
0.4966
0.8442
0.9659
0.9942
0.9992
0.9999
1.0000
1.0000

0.80
0.4403
0.8088
0.9526
0.9909
0.9986
0.9998
1.0000
1.0000

0.90
0.4066
0.7725
0.9371
0.9865
0.9977
0.9997
1.0000
1.0000

1.00
0.3679
0.7358
0.9197
0.9810
0.9963
0.9994
0.9999
1.0000

1.10
0.3329
0.6990
0.8004

43
0.
0.99

1.20
0.3012
0.6626
0.8795
0.9662
0.9923
0.9985

0.2725
0.6268
0.8571
0.9569
0.9893
0.9978

0.99990.9997
1,0000 ~¢r0000

0.9996
0.9999

1.0000
1.0000

1.¢000  1.0000
1.0689 1.0000
L

1.30. Y 1.40

ues
e
0:837%
0.9463
0.9857
0.9968
0.9094
0.9999
1.0000
1.0000

1.60
0.2019
0.5249
0.7834
0.9212
0.9763

1.50
0.2231
0.5578
0.8088
0.9344
0.9814

1.70
0.1827
0.4932
0.7572
0.9068
0.9704

&80 190
01353 0.1496
0.4628_ 0.4337
0.7306 "R7037
0.8913 U §p47

0.9636 0.95%9

2.00
0.1353
0.4060
0.6767
0.8571
0.9473

0.9955
0.9991
0.9998

0.9940
0.9987
0.9997

0.9920
0.99881
0.9996

0.9895
0.9974
0.9994

0.986632g 9834

0.9966
0.9992

1.0000
1.0000

1.0000
1.0000

At

0.9999
1.0000

0.9999
1.0000

0.9998
1.0000

ol9955
0.0989
0.9998
1.0000

2.10
0.1225
0.3796
0.6496
0.8386
0.9379
0.9798
0.9941
0.9985
0.9997
0.9999
1.0000
1.0000
1.0000

2.20
0.1108
0.3546'
0.6227
0.8194
0.9275
0.9751

0.9925
0.9980
0.9995
0.9999
1.0000
1.0000
1.0000

2.30
0.1003
0.3309
0.5960
0.7993
0.9162
0.9700
0.9906
0.9974
0.9994
0.9999
1.0000
1.0000
1.0000

240
0.0807
0.3084
0.5697
0.7787
0.9041
0.9643
0.9884
0.9967
0.9991
0.9598
1.0000
1.0000
1.0000

2.50
0.0821
0.2873
0.5438
0.7576
0.6912
0.9580
0.9858
0.9958
0.9989
0.9997 0.9996
0.9999 0.9999
1.000q~,1.0000
1.0000¢,0000
| P

2.60
0.0743
0.2674
0.5184
0.7360
0.8774
0.9510
0.9828
0.9947
0.9985

270
~ 0.0872
' '0.2487

0.4936

0.
0.862%

0.9433%7,0.9349
0.9794 Th.9756

0.9934
0.9881
0.9995
0.9999
1.0000
1.0000

2.80
0.0608
0.2311
0.4695
0.6919
0.8477

2.90
0.0550
0.2146
0.4480
0.6696
0.8318
0.9258
0.9713
0.9801
0.9969

29919
0.9976
0.9991

0.9%.
0.9998Z. 0.9998

1.0000 0.9999
1.0000 1.0000

3.00
0.0498
0.1991
0.4232
0.6472
0.8153
0.9161
0.9665
0.9881
0.9962
0.9989
0.9997
0.9999

1.0000
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STATISTICAL TABLES

<
‘?gp ((5%5
LE A.1
B3 *y.
“LJ'\ Cumulative Standardiﬁd—Normal Distribution
g
C G :
Oab Atp) is the integral of the standardized normal
A di ution from — o to z (in other words, the
area under the curve to the left of z). It gives the
probability of a normal random variable not
being more than z standard deviations above its
mean. Values of z of particular importance:
A(2)
1.645  0.9500 Lower [imit of right 5% Lail
1.960  0.5750  Lower Limit of right 2.5% tail
2326 0.9900 Lower [imit of right 1% tail
2576 0.9950  Lower limit of right 0.5% tail
3.090 0.9990 Lower limit of right 0.1% tail
: 3281  0.9995 Lower limit of right 0.05% tail
R L E I R R N
(), ,PM
) 3
z 0.00 0.01 0. F oy 0.03 0.04 Q.05 0.0 L, 0.07 0.08 0.09
0.0 05000  0.,5040 O.SOBW 0.5120  0.5160 0.5199  0.5239 %.5279 0.5319  0.5359
0.1  0.5398- 0.5438  0.5478 /P 3517 0.5557  0.5596  0.5636 75 05714 05753
02 05793 0.5832 0.5871 6:2.?10 0.5948 0.5987 0.6026 0. 0.6103 0.6141
03 06179 0.6217 0.5255 5293 0.6331 0.6368  0.6406  0.6443_L 06480  0.6517
Q 04  0.6554 0.6591 0.6628 0.6@ 0.6700 0.6736 06772  0.6808  0.6844  0.6879
) 0.5 06915 0.6950 06985 0.701D_0.7054 07088 07123 07157 07190 0.7224
@ 0.6 0.7257 0.7291 0.7324 CL':'35'7"6 ,7389 0.7422  0.7454 07486  0.7517  0.7549
“w.. 07 07580 07611 07642 0.7673 7704 07734 0.7764 07794 0.7823 0.7852
'f) 0.8 0.7881 0.7910  0.7939  0.7967  0.7995  0.8023 0.8051 0.8078  C.R106  0.8133
'Ll?.9 03159 0.8186 0.8212 08238 08264 082890 0.8315 08340 0.8365 0.8389
Jdd 0.8413  0.8438  (.8441 0.8485 0,8508  0.8531 0.8554.  0.8577 0.8599  0.8621
L 0.8643 0.8665 0.8686¢  0.8708 0.8729  (0.8749 0.8770 08790  0.8810 0.8830
12°CO0.8849  0.8869 0.8888  0.8907 0.8925  0.3944 0.8962  0.8980  0.8997  0.9015
1.3 D032 0.9049 09066 05082 0909 09115 09131 05147 09162 09177
1.4 9192 09207 09222 0.9236  0.9251 0.9265  0.9279 09292  0.9306 0.9319
1.5 09332 09345 09357 05370 09382 09394 0.9406 09418  0.9429  0.944' ™
1.6 09452 05463 09474  0.9484 09495 09505 0.9515 09525 09535 09545 ¢P
1.7 09554 0.9564 09573  0.9582  0.9591 0.9599  0.9608 09616 09625 0.9633 ’P
1.8 0.9641 09649 09656 09664 09671 09678 0.9686 0.9693 0.9699 09706 -
19 09713 09719 09726 09732 09738 09744 05750 0.5756 09761 0.9767 ’P,L.
20 09772 09778 (0.9783 09788 09793 0.9798 09803 0.9808 09812 09817 T
2.1 0.9821 09826  0.9830 09834 09838 09842 09846 09850 09854  (.9857 S
2.2 09861 0.9864 09868  0.9871 09875 09878  (.08B1. 09884 09387 09890 O
23 0.9893 0.9896  0.9898  0.9901 0.9904 0.9906  0.990% 0.99]1 0.9913 0.9916 &)
24 09918 09920 09922 09925  0.9927 (.9929 0.993¢" 09932 09934  0.9936 “?L
25 0.9938 09940  0.9941 (.9943 09945  0.9946 0.9948 9949 0.9951 0.9952
2.6 0.9953 0.9955  0.9956  0.9957 0.9959  0.9960 0.9961 962 0.9963 0.9964
27 09965 09966 0.9967 09968 09965 0.9970  0.9971 72 09973 09974
28 09974 09975 09976 09977 09977 09978  0.9979 O %9 0.998¢ 09981
2.9 09981 09982  0.9982 0.9983 0.9984  0.9984 0.9985 09932 09986  0.9986
3.0 09987 09987 09987 0.9988 0.9988  0.9989  0.9989 09989 & 0.5990  0.9990
31 09990 09991 09991 0.9991 09992 09992 09992 0999 09993 0.9993
3.2 09993 0.9993 0.9994  0.9994 09994  (.9994  0.99%4  0.9995 9995 0.9993
33 09935 09995  0.9995 05996 0.9996  0.9996  0.9996  0.999¢ 96 0.9997
34 09997 09997  0.9997 09997  0.9997 09997  0.9997  0.9997 . 9‘&7 0.9998
3.5 0.9998 0.9998 09998 0.9998  0.9998 09998 09998  (.9998  0.9993  0.9998
36 09998  0.9998  0.9999
%
2
K
A,
g



{ Table ¢
cum. prob Lo toy teo t : . . .

one-tail 0.50 0.25 0.20 0.1 0.10 0.05 0.025 0.01 0.005 0.001 0.0005|
fwo-tails 1.00 0.50 0.40 0.3}\ 0.20 0.10 0.05 0.02 0.01 0.002 0.001
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4.025 <\ 4,437
1.356 3.93& 4.318
1.350 4.2
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